DIVISIONAL ACCOUNT OFFICER

FINAL KEY

PART A

a. BIMSTEC is headquartered at Dhaka.

b. India and Pakistan are members of
BIMSTEC.

Which of the given statements is/are correct ?

Only a

Read the following statements :

a. World Press Freedom Day (WPFD) is
celebrated all over the world on the
3 of May.

b. The theme for WPFD 2019 is “Media for
Democracy : Journalism and Elections

in Times of Disinformation”.

c. World Press Freedom Day was
proclaimed by the UN General Assembly
in December 1991.

d. India ranked 1308 in 2019 World Press

Freedom Index.

Which of the above statements is/are incorrect
(?

Both c and d

>
[3)
a.  BIMSTEC G°5° 608" O

SHCH(SOMT SQ&O&.
b,  r688%0 Hdaw YD BIMSTEC &°

2§80 SOH &) ow.

&5 808 DIrET VS’ DO/ HBTDID ?

a S0°GRo

& S0b SISV DBD0G

a 200D DT DSy B0 (H6S D yo
& (werD) QdowdITgRomr D 3 WD
308,

b. 2019 c:,egpvs.::.a;':.c’.. (WPFD) Qo°d

e0%0 : “Qw&smvso 68 Ho6

m»q;m»w e:’s‘Q)bc:) DArTE
Oy om0’ HAsGorfo oBAsw
.D:)lsw .

c. Do DS DSy B0 (V6 PO PE
&) ©odTAOH DA FEron VP
GRowb, 19918 ©BSE QoS
0880 &) .

d. 365 1D pto @odsy 2019 & PrEBBB0
130 & g‘éo &9 &od.

DD BWDRAD D TEHw () PBEID Y

¢ dasw d
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3.

1

2.

India Post has signed a pact with which
company to digitally reimagine the postal

services?

Tata Consultancy Services

Which bank has started India’s first Green

Car Loan?

State Bank of India

Who introduced the first Indian platform for
Wholesale Cryptocurrency Trading?

BuyUcoin

Which of the following pairs is correctly
matched?

. 10 rupee note - 63 mmX123 mm,
Chocolate Brown, Sun Temple
50 rupee note - 66 mmX135 mm,
Fluorescent blue, Hampi with
Chariot
100 rupee note - 66 mmX142 mm,

Lavender, Rani Ki Vav

(Options: 1,2 & 3 are correct)

(5)

3. OB SR T Sdrer SNSIUEY
aRes ™ DY 8D BES> &3 S0
TOS’, BT wdyodo  LENEDco
26008 ?

EPET STy 8RN

4. r6d 530S QAR D erfe A
(Green) 526 &°0 0 PDF DLobd.

fgeS e.3°50§ 35 ol ol

5. 200k DGO erEBBIS O S
Qg Sabb éJ"O‘D& (:5*”’56 e égﬁ Sabb
@&05) (Wholesale Cryptocurrency Trading)
DO P> ?

BohorsPond

6. & S06 TOS” D 2oty VO RS DED

eélé ?

1.10 &r. © ¢ — 63 mm x 123 mm,

& F5-F e Sord, Q65 Boreoodo

2. 50 6. © S¢S — 66 mm x 135 mm, QD

(Fluorescent) €00 Do  Gordd,

6%
B80S ErAD 30
3. 100 6». © 3¢5 — 66 mm x 142 mm,

LDo&d Gotd , o3 B° oo (Rani Ki
Vav)
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Options: 1,2 & 3 108 .

What is ‘Ind AS’ ?

The accounting standard adopted by

companies in India.

The Jury Act of 1827 was opposed by many
Indians. Which one of the following social
reformers strongly opposed ‘The Jury Act,
1827 ?

Raja Rammohan Roy

With reference to ‘Navajivan Trust’, which of

the following statements is incorrect ?

a. Navajivan Trust is a publishing house
founded by Mahatma Gandhi in 1929.

b. Navajivan referred to a weekly
newspaper published by Gandhi, in
Gujarati, from 1919 (September 7) to
1931, from Ahmedabad.

c. Modi is the third PM after Jawaharlal
Nehru and Morarji Desai whose book
‘Exam Warriors’ has been printed by

Bapu’s publication division.

Codes :

None of the above

(6)

‘Ind AS’ 9t D ?

T6S B80S Doped S otdof

?35%6835) S8 ém&‘al Ao,

@TOrd o, 1827  @dE  0od
OBV B DHBTosEH. & Sod
D)D) o :oorobgoess DI Lo
aﬁée‘.’aééowd) ?

P23 DPDAIPED T°oD

2080000, A& DOTDIA s ?

& 8o DE ) TS, ‘DIBHS LY’
S
a.  dIBOD LY 038 1929 & WkEYmTod

F0DD I VoK.
[ ]

b,  DIBDD 938 mrod thaoed wgoé‘

?o?go&)5 7, 1919 &o0d 1931 S8

DBB0DD TEHAE.

c. LEHB0BI WO BTG S ST,
2o Becne SOITY, PG JPED
QO™ B8] g ‘.Dg*'m 0160’1)6‘3’
IR e (Bapu’s) ™o

HIOBR oY HS80D08.

N~

ée&b
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10.

D D 52D

Consider the following statements with

respect to ‘Drafting Committee and Draft

Constitution of India’ :

a. The Constitution had got ready on

26th November, 1949 and some
provisions relating to citizenship,
elections, provisional parliament,

temporary and transitional provisions
were given immediate effect. Rest of the
into force on

Constitution came

26t January, 1950.

b. 26th January, 1929 marked the ‘Poorna

Swarajya’ resolution of the Indian
National Congress under Jawaharlal
Nehru and so the date was chosen in

1950 to be our republic day.

c. The idea of the Constituent Assembly
was not of Congress, it was put forward

by M.N. Roy in 1934.

Which of the above statements 1is/are

Incorrect ?

None of the above

(7)

10.

DFOVT® S VB0 SVP0T®

Paidelatat-] U"e5°50($o’ (Drafting Committee

and Draft Constitution of India) &
002050 & 8o TSRO
5039008

a. POS Toarjorio 26 ddowd , 1949 &°
‘?ogé)oé. 6280, I gew, o) ¢

JG00é5, o) 9 Sodokw

SPUPIMDEOMT AP ©oTP DVDoLD

s’ Seryow. ADD
oaRjotiowod®, 26 2050 , 1950 &°
356685’ SDyob.

b, 2356 oS ST 0EGed 26 2590,

1929 & “ng NI ? 50085 &8
éo"&bo&c‘bd. 0DIVD &3 FHaH
1950 &° tieadhog Ao dgonOseadoed.
c. Tearjolt 0% ¥ 57080 I S SH

S, 98 VBB JD.DD. Tro B

1934 &° HAYBoSERDA.

D TBS’ D g0/ TSR VOEDID ST ?

D DD 57
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11.

12.

Which of the following statements is/are

correct about NOTA ?

a. NOTA was first used in India in 2009,

but made its debut in Assembly

elections in 2013.

b. NOTA has its own symbol, “A ballot

paper with a black cross across it.”

c. NOTA is available only for direct
elections such as the Lok Sabha and
State Assemblies, not for Rajya Sabha

and the Legislative Council.

d. Whether NOTA gets more or less votes,

it 1s not taken into account for

calculating the total valid votes.

Codes :

All of the above

How many number of women won in the

17" Lok Sabha election ?

78

(8)

11.

12.

b, ‘Ser’ © pdgE g God :

Sex & 2000000, &  Sod

TS IO LOTIG ?

(NOTA)

a.  ‘Ser’ aweSme 2009 S ocded , 2013
®y0d) ) E&° FBoo TEecod.
“Cororss Do
D065 eogore 2,8 DY @0k e’

c. ‘Ser’ 036 page IV EGD S'E vy

TRD DF ) S0 JrGDd Sotwod.

S TP , TR 206d I o
€0Cied.

A ‘Ser’ 3os dD Ltd SDNT, BHD
880 DDV, dwdo 3YD LS artiore
S,

E&y:

D 3y

175 6 DBLH  doh 00 S0P

Qg0 D«OASQﬁJ"VSdO ?

78
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13.

14.

15.

The first Lok Sabha election was fought

between how many parties ?

53

“Prime Minister shall be appointed by the

President”; it is described in which Article ?

75 (1)

With reference to Lok Sabha, which of the

following statements is/are correct ?

a. The Lok Sabha was duly constituted for

the first time on 17th April, 1952 after the
General held
25th October, 1951 to 21th February, 1952.

first Elections from

b. The 18t Lok Sabha lasted its full tenure of

five years and was dissolved on

4th May, 1957.

c. The first Session of the first Lok Sabha
commenced on 13th April, 1952.

Codes :

Only a

(9)

13.

14.

15.

QGB S°E 22 a:qls@es‘s Y orRdad
&gw °e3eS° &y o ?

53

O S0 TPROD Rx)

o

DoHAHIETRE”, DS O"35°50($o€55§) )

295" Ddosecide ?

75 (1)

S°E 0P D DoL0B0D, & Sobd TS’
ABIAD LBADID ?
a. &80z 288 P68 IV) g0
©dodG0, DEE J8re VS 17, 1952 &°
DaHAots EJS. (D08 JEBs
Asew 25 o , 1951 od 21

DYBB, 1952 H6LH JELETrodEDHD).

b. DB S°E DY QY D& sPvo 5
20dseyoren 38 BED ,
4,1957 &° 68> SPENB.

c. DO S°E DY DB DAED ¥ sPOdW

DS 13, 1952 &° Frbozso @on0B.

g&b

a é.!‘gﬁ)
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16. Which among the following is the smallest |1g.
constituency in India — in terms of its

population ?
Ladakh
17. Which among the following is the smallest 17
Lok Sabha constituency by number of voters ? .
Lakshadweep
18. ‘70 point Performance Grading Index (PGI) is 18
associated with which sector ?
Education
19. If 3, 1, 11, 5 represents CAKE; 6, 1, 9, 12 is
FAIL; what represents FIRST ? 19
6,9, 18, 19, 20
20. Sohan said to Mohan, “This girl is the wife of
the grandson of my mother.” How is Sohan
related to this girl ?
20.

Both Father and Father-in-Law

& S0 TOS’, 2TPEr FAVOE G D&
Qoca3reS’ s D) ABras Hdo

37~

& S0b TOS, &g Koy errdorT,
g0t DY S°E 2 ddrad H5Gode ?

o.s.ésfn

70 @oTw JEDWy  HPSSe
(PGI = Performance Grading Index)
GotodED LoI0HODIR ?

‘“é?o@éb’

305 Gofio

3,1, 11, 5 CAKE & @oanago DIY; 6, 1, 9,
12 FAIL 8 AJ850 D3R, FIRST &8
Vg0 DI ?

6, 9, 18, 19, 20

VS (D) rd ( drrd) &
OT*) D ! “&s VIHTYOW, D &)
20050y 3D, S &
@930°) 008 DDEVIDT D ?

éo@ oS003N .:mboja’s
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21.

22,

23.

24.

Complete the series by replacing the question
mark (?).

AB11CD, EF13GH, 1J17KL, (?

MN230P

Five students participated in a scholarship
examination. Sudha scored higher than Puja.
Kavita scored lower than Suma but higher
than Sudha. Mamta scored between Puja and
Sudha.  Who the

examination ?

scored lowest iIn

Puja

If the third day of a month is Monday, which
of the following will be the fifth day from
the 215t of that month ?

Wednesday

Twenty-four is divided into two parts such
that 7 times the first part added to 5 times the
second part makes 146. The first part is

13

(11)

21.

22.

23.

24.

& 8ob DI D ) o B§ S
E2°) Y Rodod.
AB11CD, EF13GH, 1J17KL, (?)

MN230P

O @657}6 8505 900D
Deggoen 3°e(.§°a°‘ld>. G e &)
ALY D AT en FOood. SIS KW
5:5‘1 ésobb, 50, WS éail o)éobé
FOoDod. e, WG G S
29003

as"d)bwar’i&n. eaocéééa"‘l,

BE D doedd) 0 J;OOD0D dHSH ?

e

28 dOS® 35 Far Vvardo o, 215
620 od) 55 B2 DO evdHetood ?

EAV a T o]

2480 Bolorr  DRow), DG 2o
7T TPAyoDd  AAD Bocsd  erriodn
5 Do DD erod £d>S
146 HV0H. G 2o

13
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2b.
25. The missing number in the series
8,24,12, 36, 18,54, _, is
27
26.

26.

27.

28.

If such numbers which are divisible by 5 and
also those which have 5 as one of the digits are
eliminated from the numbers 1 to 60, how

many numbers would remain ?

40

There is a sequence of 11 consecutive odd
numbers. If the average of first 7 numbers is
X, then find the average of all the 11 integers.

x+4

There are 20000 people living in Defence
Colony, Hyderabad. Out of them, 9000
subscribe to STAR TV Network and 12000 to
Zee TV Network. If 4000 subscribe to both,
how many do not subscribe to any of the two ?

3000

217.

28.

& 0B ‘DAD Doy &S PP
Qrdodod & 8,24, 12, 36, 18, 54,

27

I o3 5 WS
SPEODNED, B0 s ‘50033556 5 2
G2 (®03) ™ &d) T8, 1 o 60
DL DVDY/

ORIV D.‘D‘l Qozgen enaron ?

Qo DD

&) 7008,052)236 fo14)

40

a8 DoP® G0, 11 DD Bd
Dopfen  &PYow. S DB 7
Qo0 D Ded x oD, 11 Qo0
DD EOE DG

X+4

TEerd  AdOY SRS’ 20000 H0od
Do G&PY®. DOS° 9000 Hod F6
[5Ye) D HE), WoTrrrdRLT™, 12000 2008
2 8D IS H6), SoTTERDT &) 6.
DBES® 4000 Deodod Boch B DS SO
& HoTPTPdeDTT €03, DohHod Bodd

8 beSédZyD & SomrrrdenT &8 ?
3000



GSAM/500

29.

30.

31.

There are only two candidates contesting the
election. A person who got 47% of votes lost by
540 votes. Assuming that there were no
invalid votes, the total number of votes cast

were

9000

The priest told the devotee, “The temple bell is
rung at regular intervals of 45 minutes The
last bell was rung 5 minutes ago. The next bell
is due to be rung at 7:45 am.” At what time
did the priest give this information to the
devotee ?

7:05 am

If 6 years are subtracted from the present age
of Randheer and the remainder is divided by
18, then the present age of his grandson Anup
is obtained. If Anup is 2 years younger to

Mahesh whose age is 5 years, what is the age

of Randheer ?

60 years

(13)

29.

30.

31.

ag  dDNES g eFien g
TOBQOTY . 28 @Y 47 FTBo Lw
Tod, 540 &by doos, LAVasred. &
0" IV Lt SH0EH, 2wdo

TSe00d L0y ?
9000

a0 BHIT  @er By 1 ‘&
Barooio (o R 45 J.0d Joo0S
DrDS0D. WP, 5 dare  Sdo
508) DIHoH. NHOAH, e (o) 7 ot 45
D.oE DrHB0H.” G Ao  DyPerd
HHIS D 2200HoS” Bdyo 20Md ?

7:05 am

Bea06 (LROS HODRNS) 6 DodTEYToRD
BDDY. WADD HOLRLN 18 B A
OB DD IATD  PRS aﬁo:joio.)b
TOROWY. 5 RODTNT® DO
SB0I° ), XD Bodd RodTPNTTD
&éimc‘,) 0B, 6eadHb AR doh ?

60 x)oéa"bo‘w
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32. A train 135 m long is running with a speed of | go_
49 km/h. In what time will it pass a boy who is
walking at 5 km/h in the direction opposite to
that of the train ?
9s
33. means accumulated profits. 33
Reserves
34. Find the profit from the following data : 34.

Capital at the beginning of the year ¥ 40,000;

Capital at the end of the year ¥ 45,000;

Drawings during the year <% 5,000

Capital introduced during the year I 2,500.

37,500

135 o0 TED &D) w8 e (od
49 8.0, Do D00, & Jew
HOBE OIS, o> 5 S, Deforr
DROVY  ePAD, Jod  DOS” T
g ?

Q) @w  APEAD  ererentr
DBAEAFD.

othen escrabo (Reserves)

& S0l WIS, Rogry dIrwdo (Ger)
290000, PO ST NG

HP¢oec, (Capital) RodSyGo DSBS’ T
Deed, ‘{\)osﬁébo“oémess 3z
45,000 P&, e, RoDANE SRVES”

40,000,

% 5,000 DY) é:ooga; cteny (Drawings)
™, T 2,500 Z‘oggoaodé e9¢ddore  (Capital
introduced) DNIE.

T 7,500
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35.

36.

317.

38.

The rate of gross profit on sales i1s 25%.
Calculate the gross profit if cost of sales is
< 1,00,000.

3 33,333

% 331 received from a customer is debited to
his account as ¥ 313. What is the effect ?

Debit increased by I 644

Total expenditure of the government is
% 5,000 crore, total revenue of the government
is ¥ 4,890 crore and the market borrowings

2 180 crore. The volume of fiscal deficit is

< 290 crore

Which of the following is true if the exchange
rate between the Dollar and Rupee moved
from$1=% 60to$1=% 70°?

Rupee depreciated

(15)

35.

36.

317.

38.

VI EIVOP  erP FTBo T 25 dwdo
wbo&éo dend T 1,00,000 © eaoooé:.pgbc:o,
DGO Vv o dod ?

¥ 33,333

a8 erjoH e o Kok X331
BED o wden  @ser T 313 DAY
(debit) S06d QDL &Y, oD DLrH0
AR

2O T 644 & DEOHBS

QIS Y 5,000 Egp, o DS
esrao X 4,890 €6, exdyen 3180 E¢w
ond, 508 S’ Dend dogh ?

T 290 Sen

Eereb 0003 ERPIPON  AXGSo e,
w8 b 60 T How), w8 b
0 T JrOIDYW, & fod TS
D& dao

dordro dewd 8008
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39.  Which of the following is true in relation to|g39 & Qo0& ooOS® orcs B% 2rerd
India’ lation ?
neias popriation 020800, A& Jao ?
2001 — 2011 &wreos®  axree
The percentage decadal growth rate of @

population during 2001 —2011 was 2o wedo 17020
17-6%

40. & 806 orOS° O Beorhd rX ST

40. Which is not a Telugu Language Newspaper ? D8 s ?

Telangana Today Bworres L&

41. PROB PI (Press) STNS @D Q0Go
ROF SO DO ?

41. Who is the current Chairman of ‘Press Council

of India’ ?
afgcf) S0BAT°Y HI°E HAE

Mr. Justice Chandramauli Kumar Prasad

42. ‘b)éﬁ-aé-@saé’ RIYS) B

g"i)oé&)&c‘bé ?
42.  ‘Mirat-ul-Akhbar’ was founded by

P23 DPDDIPPD T°oDd

Raja Rammohan Roy
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43. Match the following : 43,
Banks Taglines
a. Punjab I. Where India Banks

44.

45.

National Bank

b. Union Bank of II.
India

... the name you can
BANK upon

¢. Andhra Bank III. Relationship beyond

banking
d. Bank of India IV. Good people to bank
with
Codes :
a b c d
II v I II1

The Copyright Act was enacted in India in the

year

1957

When was the Indian Right to Information Act
passed by the Parliament ?

15t June, 2005

44.

45.

& 308 T 2 HDEG -

e300 TYrO Do

a. 002e) DS 1. D6 @od ok
VRV exgoSy

b, COrONS L .0 DD asw 85
SUCERER e§08 R
QoGO3

c. ogr &> I BTN 2D

Dodrol& a:"soéoﬁ

d. aa‘zgoé €95 IV. & 25HS e
Qo0& 03 83‘505 DA
§6 &D :
ab C d
Hiv i i

e B85 Sigo arGe B30 D DoddyGo

&0 RODLE0D.
1957

BPOS PG00 DY RATTE P
é%a.)o’ 0 ATHd ?

15 &, 2005
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46. Spying and wrongful communication of secret | 46
information comes under the
Official Secrets Act
47. Who was the founder of ‘Deccan Chronicle’ ?
47.
Rajagopal Mudaliar
48. ‘Ticker’ is related to 48.
Television
49. In the sampling, each subject or |49
unit in the population has an equal chance of
being selected.
Simple random
C . 50.
50. ‘The Gazette of India’ is a publication under

the Ministry of

Housing and Urban Affairs

Gy VATTCo £ VowOBOID (e
TPESC0 B0 B VIAFT*Co T,
& o DOOS’E DB,

RS HFESy o

TS IS bzsbg“a’os.)w DI

orarl S BT asrs

& Zo& o8BS ‘g6

20000V ?

(Ticker) £

B2

& Sod DBYRY Q B°0300 DES Ps°0o,
2erd”  @d) DO wogolerho  Dods
WOIWVL VAP WdHSBo God 7

oS oroctad (Simple random)

Wrsd PFS Ty DGo (O (8S e
QOGOIr) PG D BB TR
0OOS’E H0d?

doh Hodasw 93665 ee:.gbéb
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51.

b2,

53.

54,

(19)
PART B
The integral part of (7 +4+/3)3 is
51.
2701
52.

20 litres of a mixture contains milk and water
in the ratio 3 : 2. If 5 litres more of water is
added to it, then the percentage of milk in the

new mixture will be

48

On selling 82 oranges a fruit seller gains the

selling price of 7 oranges. His gain percent is

9l
3

A can do a piece of work in 8 hours, B and C
together can do it in 6 hours, A and C together
can do it in 4 hours. How long will B take to do

it alone ?

24 hours

53.

54.

>8 O
(7 +443)" G308 R°gos atio Dot ?

2701

20 dexg Jroes® 3 2 iy S” e B8O
Dby €D emyow. & W3S 5 deg
DB S8 DIPB, A Y
A3300e5° e Foho Doh ?

48
208 TR0 82 S0 DogRL W) 7 S0

DOGRD 9B TPOWN
FoTRE. 9D ToAX s Foeho Doed 7

Q) o

@ 208 DA 8 totrweS’ LY Booric. eod
DAY D 00030 D €OV 6 KorweS I,
200050 D €91 4 oS Qrd
doprod. D afdr & DA Yo
WO30EPIS K)eg Ra0R0 doed ?

24 o>
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55.

56.

57.

58.

A certain sum becomes 5 times at 10% simple
interest per annum. At what yearly rate of
interest will it become 7 times in the same

time ?

15%

A person incurs 20% loss by selling an article
for ¥ 480. At what price must he sell to earn
20% profit ?

% 720

A train of length 110 m is moving with a speed
of 72 km/h. The time taken by the train to
cross a bridge of length 132 m is

12-1 seconds

Two numbers are in the ratio 15 : 11 and one
of them is 143. If their HCF is 13, then the

other number is

195

(20)

55.

56.

57.

58.

oo D68 Eod  dwdo
RODSNT°IS 5 Gen @YB00d. 9 dwdo
08 oo’ 7 B STrU0Es oGSV
D¢ B0 Jods ?

10%

15%

w8 B8 w8 DY T 480 0D VA S
20% dPo DAyod. e HE 20% ereo
Forrwotd @ DD oS 6K
o ® ?

% 720

110 &g T EDAD Ben (o
72 8.0 Do Hoire3dod. 132 .
DD (0 HoBI VLD &8 Tendd
Do VAo DSV ?

12-1 sz

o Rogen 15 : 11 Z)::DegeS‘s €5 Q.
es 700;35066 288 143. &8 Do (163
Ay raso ((..er.) 13 oIS
Sotiad Qo) dod ?

195
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59.

60.

61.

The monthly incomes of A and B are in the
ratio 4 : 5 and their monthly expenditures are
in the ratio 7 : 9. If each saves ¥ 500 per

month, the monthly income of A is

T 4,000

The sale price of an article including GST is
% 649. The rate of GST is 18%. If the
shopkeeper has made a profit of 10%, then the

cost price of the article is

% 500

A sum of money is divided between A, B, C
and D in such a way that A and B may get as
3:5,Band Cas6:7and Cand D as 8 : 9.
The ratio in which A and D get is

16: 35

(21)

59.

60.

61.

o ook D BwE) JduTd  esrato
4:5 JQS'dr Hockw 0 dward
RN
WE) G S8 JuH 500 w ew
JVIPS D dDwg), duard  esmrodo
dodh ?

:,od)!) 7:9 &v‘looo.

3 4,000

2008 &0 w8 IPYH e,
w80 Jewd T649 0. B.IV.Y. 18%.
WEJY SRR @ DWW @ 8o
oQoe 10% g0 vgoz‘bégé, (2P IVE))
§°X)‘l A6 dogh ?

< 500

o B D & 3:5 O O3 D 8
6:7, D o3 & S 8:9 K)fqbe? G0l
Eoch Zwogfb‘l D, D, D Hdodw o
Slaly DIBoBVAID, oD d SBAZD
GO ;T Sy AN dod ?

16 : 35
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62. The least number, which is divisible by all |62.
numbers from 1 to 10, is
2520
63.
63. The greatest number, which when it divides
764, 902 and 1178 leaves the same
remainder is
138
64.
64. The number 2-35 in % form is
233
99
65.
65. If log 2 =0-3010 and log 3 = 0-4771, then the

value of log 24 is

1-3801

B BDYD Do 1 Aot 10 HOL
o Dopgen @Yo B erhoced EJ
Ropy & ?

2520

& QD BBy “(003350956 (0RO
B D 70093565&3 764, 902 H0BO3D

1178 0 gAY 8 Doy IO HYOB.

138
235 R0 § Or0oS w0y BFy Rowy
doed ?

23
99

log 2 =0-3010 0803 log 3 = 0-4771

0GB, log 24 = dod ?

1-3801
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66. A person borrows I 10,000 at the rate of 10% | gg.
interest compounded yearly for a period of
4 years. How much interest he has to pay ?
T 4,641
67. If LCM of 15, 25, 30 and x is 300, the
minimum value of x is 67.
4
68. The population of a city 4 years back was
83521. If the present population of the city is | 68.
104976, the percent of annual growth in the
population is approximately
5-88
69. Iflog 2 =0-3010, the number of digits in 23° is |69.
10
70.  Which of the following is the largest? 70

41/3

a8 O8 10,000 00 B3 DG Do’
RoDBVTPIE 10% DG STDYO T oder
4 oDV T8 )y DT,
0 BPosDDD Jwdo B¢ Jodh ?

3 4,641

15, 25, 30 S0BA3L x 03.1)525 5328 3"850":65
tDedeo (8.3°.0.) 300 ©OVIGB, x B
&% Dend dos ? -

4 R0HS\TO S0 28  Drdo aBoog);
2 83521, &8 Ao AIE), YWD
2T 104976 @o0IGB, e wgos
RAFOT 5788 DD Tdo Jodh ?

5-88

log 2 = 0-3010 00NGB, 230 Howsd eoSe

Doay dosh ?
10
BHD By 7003350955 0d DY Doz

Q

A6?
413
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71.

72.

73.

74.

If the difference between the simple and
compound interest on a certain amount for
2 years at 5% is * 125, then the amount is

T 50,000

The day on 18.9.1977 was Sunday. A couple

was married on this date. How many

marriage anniversaries would fall on a

Sunday in the next 15 years?

How many times in a day are the hands of a
clock straight ?

(i.e., pointing opposite each other)

22

The remainder, when (x + 1)* is divided by
(x—-1)2 is

32x — 16

(24)

71.

72.

73.

74.

Sod 2o 2 RODBVTOD TP 5%
SO0 T 008D oo 0B
TEDG DGy DgEEo T 125 owdea,
0L VB0 Dok ?

% 50,000

8 2005 B 18.9.1977 J  DIPSFo
WOVNB. e3 Jer TG0 eaw €0\ O.
oeeS’ad 15 “n)oéébo"e)éﬁ OG0 Berd

) Dy avgéeébavw 28BS0y ?

Bers® I  HAIPGCoS™D  BHgoen

ST &otron (@08 wSrIEES

DBOT)

22

E+1D' &0 x-1? arhose BBy Blo
dodh ?

32x — 16
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75.

76.

71.

78.

If the polynomials ax® —7x% +7x—2 and
x5 — 2ax? + 8x — 8 leave the same remainder

when divided by x — 2, then the value of a is

If 2x— . 6, then the value of 4x2 + L
2x 4x?

is
38

If x+ L =5, the value of x*+ L is
X x4

527

There are three consecutive positive integers
such that the sum of square of first and the
product of other two is 154. The largest

number is

10

(25)

75.

76.

717.

78.

ax® — Tx2 + Tx — 2 &00030 x° - 2ax” + 8x — 8
0D TVNMO x - 2 & rny Sy
o w8 oG, a SVVER VD
oed ?

2

2% — 1z 6 oNIEB, 4x° + L SVVER
2X Nl NG

Ded Do ?

38

_— = 5 00IG3B, x* + i4 aBoog); VD
X K X

doch ?

527

2P DOV GD Yrgosd D
‘&)oaos bcgo 00030 éovse‘.’é o 7003;)50
A0go EBDIS’ 154 oD, TOS Y

SIENS 6 ?

10
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79. The wvalues of x in the equation|yg
t ot 1 are
X -3 X+5 6
7,-9
80.

80. If x+1 and x—2 are factors of

x5+ ax? — bx — 6, then the value of 4a+Db is

13

81. If m and n are the roots of the equation
x2—3x+p=Oandm3+n3 = 81, then p is

equal to

-6

81.

1 3 1
X—-3 X+5

X oapszj DD doeh ?

=% 9D DAEG0S
7,—-9

x + 1800050 x — 2 ed x° + ax” — bx — 6
g,  SPUEFOSTD  OIBB, 4a+b
QL) DD dodd ?

13

0 83w m® + n® = 81
0D DECEFY Sorered m V03D n
Dend a8 Ad0

x2—3x+p=

OB  p
B0 d ?

-6
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If 4x3 — 3x + 9 is divided by 2x — 3, the
remainder is 18. Then the quotient is

82.
2x2+ 38x+ 3

83. If the coefficients of x’ and x®in the expansion

n
of (2 + %Xj are equal, then n is equal to

55

84. If p and q are coefficients of x"™ in the

expansions of (1 + x)?® and (1 + x)?2~!

p

q

respectively, then — 1is equal to

(27)

4x° —3x + 9 9DO 2x -3 S 2PA0WD, AT
300 18, 90NB JPEAD Jotd ?

82.

2x2+ 8x + 3

n
83. [2 " %x] gy DO x” Hdako x°
g, Mrsiwen VIS0 ROVIGB,
n="? -
55

84. (1+x%™ Hdadw (1+x2 ! Coog), DR

DYBeS 00 p SBAD g DD X"

ABoog); (0EasTeD 0VIGAS, % =?
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85. If A={x:xdivides 24} and
B = {x : x divides 36}, then A N B will be

{x : x divides 12}

86. In a town of 840 persons, 450 speak Hindi,
300 speak English and 200 speak both. Then

the number of persons who speak neither is

290

87. The domain of the function f defined by

fx)= 4 - x + ! is

x% 1

(o, —-1)uQ, 4]

(28)

85.

86.

87.

A=ix:x OO 24 0 2PHotLRL } OO
B=ixix &30 36 0 &Aoo } @)y
AnB=?

{x1x @38 128 Aot}

w8 DYEOS” 840 DIKRD &I . TS’
450 008 ol JPEPGRTEW, 300 Hod
‘aoé‘ép wgd&)‘d), 200 HDod Told
TR APETH &) . AT Lo
QIPIPEE dyew Dodod ?

290

€9

fx)= J4 - x + - K)ds&o:b
X< -1

DGR oo f(x) g, HBFo D
S3°B00d 7

(o, -1 u(,4]
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88. Let n(A) = m and n(B) = n. Then the total | gg
number of non-empty relations that can be

defined from A to B is
2mn _ 1
1 0
89. If A= , then A + Al isequal to
1 1 89.
21
90. The number of solutions of the system of
0 1 -2||x 1
equations |—1 0 5(ly| =11]|1s
2 -5 0]|z 1 90.
None
91. If Aisa square matrix of order n and 91

det A=A, then det(—5A) is

=5"A

n(A) = m 00030 n(B) = n ®oB, A ok
B 369 o dwgo IA(SE Doeorrv

c“ooa.)zg. e

2mn_1

A+A7 B HaArd0

21

0 1 -2 |x 1
“1 0 5||y|=]1] @3 Hdosses
2 -5 0]]|z 1

oso-g& D oo Rogy o ?
W I

A 0030 nd SGHIBS BodD  BRGR
SoPGE 0003 det A = A
det (- 5A) =?

(=5"A
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92. If a matrix A is such that A = 0, A2 = 0 but
A3 =0, then I - A)lis equal to

I+A+A2

93. A square matrix A is skew symmetric if

94. Two variables X and Y are related by
2X + 3Y — 5 = 0 and the mean of X is 2. Then

the mean of Y is

M

(30)

92.

93.

94.

28 BPAE A 0D, A=0,A%7=0, A%=0

eond, 1A 1=2?

I+A+A2

A 0D SROY AFGE S08DE RS
JrBE ewond ?

2X 4+ 3Y — 5 = 0 9B CGocdd ddoraven X
003D Y & gy Doeroian wdosw X
o?:ooézj m¢5mo 2 o Y o&nézj
&1)(?_65&)0 Doy ?

W[~
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95. The median of 11 observations is 50. If one of | g5
the observations 25 is replaced by 48, the
median of the new set of observations will be
increased by
0
96. The mean of the following cumulative
frequency distribution is
Variable Cumulative Frequency 96.
1 3
2 13
3 22
4 29
5 32
6 33
3-:00
97. The mean mark of 30 students in a class 1is
58-5. Later on it was found that the mark
75 was wrongly recorded as 57. The correct 97
mean is
59-1

11 fabsao&é [0:2- V1) 03»525 sﬁoc.ﬁvsﬁéo 50.

QORICD oedowes’ 2088 900D
25e0¢0e0T 480 PAEDoIND,  Samr
bdb&é TR0 BBE), 0GB Doch

DEODOSVS ?

& S06 VoS T DY Derasd DA
O&:oézj b.)c,ﬁémo doeh ?

DoDS Fd:
S6o°R

Q)&')‘go

13
22
29
32
33

OO WIN|EF-

3:00

w8 BOABS’D 30 Dgdho Wi AP e
QoGo 585. &8 ST T5 DAV
57 SIE)RVTT ST DA BRI
(000G, WONB DIHBOWLGD i
Doy ?

59-1
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98. For the following distribution

Class Frequency
0-5 10
5-10 15
10-15 12
15— 20 20
20 — 25 9

the sum of lower limits of the median class
and modal class is

25

99. Consider the data :

100.

Class Frequency

65— 85 4

85 —-105 5
105 - 125 13
125 — 145 20
145 — 165 14
165 —185 7
185 — 205 4

The difference of the upper limit of median

class and lower limit of modal class is

20

The ages of eight family members in years

are 7, 52, 31, 18, 2, 25, 37 and 8. The median

in years is

21-5

(32)

98.

99.

100.

& Sod :J%J'Sséo 29:30%800) éoc.szgde.“s
Poblelon SUIFAYG LU LIS s To To T ST3) sbg €990
0P S0 dod.

S66S R0
0-5 10
510 15
1015 12
15— 20 20
20 - 25 9

25

&D @&Qé DArTCo PS°Go YIS
xTelolt) 03”5[; (ﬁ@é@q 908 B
STVVE  HSAD o:msb s:)g 29560
éoc_ﬁzg 83¢%0 Doy ?

[xlelolx] 3‘:‘6:‘5)_)&50

65 — 85 4

85 —-105 5
105 - 125 13
125 — 145 20
145 — 165 14
165 — 185 7
185 — 205 4

20

AAE  Hod  Lreoed Rggo DA
RoDSNoV o°6re 7, 52, 31, 18, 2, 25, 37
200050 8 0B DHBVT S LE|HSDLD
dogh ?

21-5
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PART C

101. Three solid cubes of edges 6 cm, 8 cm and

10 cm of metal are melted and recast into a
cone of height 77 cm. The radius of cone is

approximately

4-6 cm

102. A right circular cylinder with radius 7 cm has
total surface area 440 cm?. Height of the

cylinder is (Take = %)
3 cm

103. A right circular cone is of diameter 26 cm and
height 84 cm. The radius of the largest sphere,

which can be put inside it, is

11l cm
7

(33)

>6 D
(3]

101. 6 20.Q0., 8 .. HOAW 10 .. TEDD
0T (O &P STERDY) VTP
E8AOD) 77 V. DB O B0
BOIPHORODEID. ARG 020D
B8, 0’53"80 ooed ?

46 2.2.

102. 7 .. THFgo DN w8 vor HESS
QX0 AE), Qugo &DOBw DTV
440 BGG) 0.0, (n = % ™ Sl ).
Qoo Al DB Jodd ?
32.20.

103.

WS o8 DYTFSPE BoVY GRS T°§R0

26 20.20. 00050 DB 84 2.2 €8 F00PS’

2809 08 G Hvo g T§go Joeh ?
Q N Q @
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104. ABCD is a trapezium in which AB || DC. If

106.

106.

area of A AOD is 4 cm? and area of A BCD is
7 cm?, then the area of A CDO is (O is common

point of diagonals)

3 cm

The length of canvas 1-1 m wide, required to
build a conical tent of height 14 m and floor

area 346-5 m2, is (n = %)

525 m

If the area of square inscribed in a semi-circle
is 2 cm?, then the area of the square inscribed

in the full circle of same radius is

5 cm

(34)

104.

105.

106.

ABCD o3 &H®c0e8® AB || DC. AAOD
Gog), PFOf0 4 5.20.20. H0ak A BCD
Cog), TR0 7 3.0.a0. WOND A CDO
Boog); DTV Jodd ?

(0 sgro 098 Docdid))

35.2.2.

11 . SR ©od, 14 . JAOBBOED
QO TR0 3465 B.20. 0 g FBorss

DTy ABLocserdE  Joh P o

TR oD ? (1= % ™ 08 0A)

525 &.

al ©f HTT0C0S  ©BBYIBACRR)
DT 2 $.20.20. @ond, ©d a°5b°go
EOAD  HyP0S” MOND SSBIGRo BV,

DT°VJ0 Jod ?

5 ¢3.2.20.
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107. A right circular cone is 8 cm high and the
radius of the base is 2 em. The cone is melted
and recast into a sphere. The diameter of

sphere is

4 cm

108. A cone and a cylinder are of same height. The
radii of bases are in the ratio 2 : 1. The ratio of
their volumes is

109. The diameter of a sphere is 12 cm. It is melted
and drawn into a wire of diameter 0-2 cm. The

length of wire is

288 m

(35)

107. 8 V.. AP0, 2 V.. BTG a»5avgo
EDHD wo8) HTBER) F0VD E6AD
28 Byorr Saird S20E, & Hvo @)

&)"57\)0 doh ?

4 2.20.

108. a8 g SDAD FoaD) HOGD YTV
B0, BEEERAVL ;yz@*’go Dind 2:1
WOV T A DD DBITETYL AND
doeh ?

109. 12 2.50. o 0 (o FFa00 €800
022.20. © TR0 (S0 S TP SAIPE BDHS

It Tl SSRE i) doeh ?

288 .
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110. A circular road runs around a circular garden. |110. 208 OyZ°S°C ew5ébéo 66..)%5).? &c‘é‘l
If the difference of circumferences of outer and

QYTE°CY &0 AIE), 7Ty, WoBC LyTRV

inner circles is 88 m, the width of road 1is

(n= 22) OGO B0 88 . VOIS, &3 0 Dekewy
7
dodd ? (n = %)

14 m

14 2.

111. A circle of maximum possible size is cut from a

square sheet of board of area A. Subsequently 111. A 2)?"050 (30 SBOEISeE SPAG0 S0l RToTe)
a square of maximum possible size is cut from = e ®

the resulting circle. The area of the final 2076085 28 HYBANX E3B0D, oS’
square is 200D (07 DOAPRO O BAGRZND
EB00DT, &8 SO BBOCRY DTN
%A doeh ?
%A

112. A regular hexagon is inscribed in a circle of

radius r. The area of hexagon is
112, r SFrgo (0 w8 HBoS’ M DR

295500\, €3 20 NN DF°V[0 Doh ?
33 o > 2 ’
2

3V3

—r
2
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113. If the radius of a cylinder of height h is tripled | 113.
but its curved surface area is unchanged, then
its new height will be

In
3

114. The perimeter of a trapezium is 52 cm and its
each non-parallel side is equal to 10 cm. If the
height of trapezium is 8 cm, its area is 114.

128 cm?

115. The ratio of radii of two cylinders is 1 : 2 and
heights are in the ratio 2 : 3. The ratio of their
volumes is

1:6
115.

h Qo fo R0 SBos); T§Prgo Lared Bew
DoDHNAS, T DY &DOIO DTV’
Srgo Y Arcdy FHGd D §Y I
odh ? -
%h

w8 GaRoPo Do SBocRo CADE)
ot Fod 52 2.0, SO0 T )
DAToBG0 D) oA Sed 28 6.8
10 2.20. e, GHR0Vo AP 8 .. e

O T° PT°V0 Do ?

128 .2.2.

B0 ArIO ;)*’53*’0*’0 D8 1:2 2608w
@ @ -
APV S 2:3. T O DOITETL

Z)‘éqbe;? dodh ?

1:6
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116. If the perimeter of a circle is equal to that of a|116.
square, then the ratio of their areas is

22
(n==2)
7
14:11
117. The base of a right prism is a triangle of which 117.
the sides are 17 cm, 25 cm and 28 cm. The
volume of prism is 4200 cm?®. Its height will
be
20 cm
118. The base of a right prism, 4 m high, is an
equilateral triangle whose side is 1 m. Its
total surface area is
118.

(12 + %\Ej m?

28 Hydo Y ot Evd T SB06Ro

aBo0g); LW TOHL DATPI0 VoD T8

DT DD Do ? (n= %

14:11

28 S X)%géo 03‘”56 BEVBPS°ER) 9O
17 2.5,
25 20.20. 00030 28 .90, e Hergo o),

Faole) 0333525 202Pe) HAVTP

0D HDOAT0 4200 D0.20.20. @od T

DB Dok ?
20 2.2.
w8 8 DSo ot“:ooszI Q620837570

SEOBPTERY) 9O 2o oansb Zoxo Seored
1. 0., D0 4 0. 0D T° Do EDOSB

DT°V0 Do ?

(12 + %\Ej s
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119.

120.

121.

A metallic spherical shell of internal and
external diameters 4 cm and 8 cm respectively
is melted and recast in the form of a cone of
base diameter 8 cm. The height of the cone is

14 cm

A solid piece of iron in the form of a cuboid of
dimensions 49 cm x 33 cm x 24 cm 1s moulded

to form a solid sphere. The radius of sphere is

(Take & = %)

21 cm

In the figure if # OAB = 40°, then £ ACB is
C

AbB

50°

(39)

119.

120.

121.

Berse) S50 Hy g a5, wodd
SPHITRD EHADIT 8 2.2, HOCK0 4 2.2
T E6M0D 8 .20, TR M &P
(50) FOQVT SASTED BDDEDED
B020%) IV, B o ?

, &8

14 ».%.

49 .90, x 33 2.20. x 24 2.5. Soten do
QD DODBENAD 208 DD BT SHOSTPD
B23S, oD v5ﬁ°go dod ?

(r = % Sin&od)

21 ».%.

BHD D30T~ OAB = 40° oD, ~ ACB

dod ?
C

40°

K

50°
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122.

123.

124.

125.

ABCD is a cyclic quadrilateral such that AB is
a diameter of the circle circumscribing it and
£ ADC = 140°. Then £ BAC is equal to

50°

ABCD is such a quadrilateral that A is the
centre of the circle passing through B, C and
D. If £ CBD = 40° and £ CDB = 35°, then
2 BAD is equal to

150°

The circumcenter of the triangle ABC is O.
Then £ OBC + £ BAC is equal to

90°

Two circles with centres O and O’ intersect at
two points, A and B. The line PAQ is drawn
parallel to OO’ to intersect the circles at P and
Q. If PQ = 8 cm, then OO’ is equal to

4 cm

(40)

122.

123.

124.

125.

ABCD 3 g0 DB WY &)

e
2P TR0 AB &00a%» £ ADC = 140°,
o £ BAC =7

50°

ABCD @0 SSe000y20e5 A oG a8

B B, C 00w Do (Do
i)‘*@é@bm 2 CBD = 40° 08050
# CDB =35°, ®owndd / BAD =?

150°
gono ABC cdwg) 0058 Soggo O

2900358 £ OBC + ~ BAC =2

90°

O 803 O Sogdweor™ (o  Botd
ByBB0en A 200050 B D Dotdde H5¢
OGO, P 0800 Qo IG HHre
DoGotHDL 00" L Daroddor PAQ
B0 ARIS PQ = 8 2.20. 900H 00" =2
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126.

127.

128.

129.

A circle can be inscribed in a quadrilateral
ABCD if

AB+CD=BC+AD

The tangents at points A and B on a given
circle intersect at C. Then incentre of the
triangle ABC is lying

On the circle

ABC is a triangle right-angled at B. O is the
centre and r is the radius of the incircle of the
triangle ABC. Then AO . CO is equal to

rv2.AC

If radii of two concentric circles are 4 cm and
5 cm, then the length of each chord of one
circle which is tangent to the other circle is

6 cm

(41)

126.

127.

128.

129.

ABCD &3 t580t020085° 00 2,8 9800080
ACDTOVY cvvvvvvvveee

AB+CD=BC+AD

208 BB A H000% B 95 Dotoide H¢
Aoed S NGy Bpen C od Doty HG
genron. ond oo ABC ABg); Wod:
Sogo ) & &sot0d ?

)0 DD

ABC @36 B &¢ ©oe €00 £9AD Qzvao.
ABC Q202065°0 €038 Oy @8 0 Fogd
DoY) S0B3D r a"z@‘*go 29005 A0 . CO
A8 2ATH0 9B ?

rv2.AC

Sotd S Bo@s BT THITLD SR
4 0.0, 00050 5 0.0, 900SB 8 DB
&g 208 Hyzedd R\Gy G wond & B
Gog), Tk dodd ?

6 .%.
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130.

131.

132.

133.

At one end A of a diameter AB of a circle of
radius 5 cm, tangent XAY is drawn to the
circle. The length of the chord CD parallel to
XY at a distance 8 cm from A is

8 cm

The values of a and b, so that the centroid of
the triangle with vertices (a, b), (1, —a) and
(6, 5) is (3, 2), are respectively

2,3

The area of the triangle, the mid points of
whose sides are (0, 1), (2, 3) and (1, -5), is

28

If three vertices A, B, C of a parallelogram are
0, 1), (1, 3), (4, 5) respectively, the coordinates

of the vertex D are

3,3

(42)

130.

131.

132.

133.

5 2.0 © &Psb*’ga», AB grgodn 890
ByBB0 DL, w8 VDG A S B35S XAY
©3 Y6y G ACHLEHB. A © 8., ©
GrGosS” XYL RdFoddorr Aoedd &
CD G308, Pt Doed ?

8 ».5.

(a, b), (1, —a) SOA3L (6, 5) D HADH
PO DA Jgbao ), o o
(3, 2 esoooé:g)bm a S0Bo3D b o&nézj
DLVDLVJ0s ?

2,3

208 8200 o:msb 200 mqs

Docosnen (0, 1), (2, 3) Hdas» (1, -5)

900D B Q?ozgmm S0 808,
28

208 VAP0 amdae)aao ot“:ooszI A, B, C
%ng D™ (0, 1), (1, 3), (4, 5) 9AVIS,
%go D GB0&), DEFOEa0e0 DD ?

3,3
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134. AOBC is a rectangle whose three vertices area | 134,
A(0, 3), 0(0, 0), and B(5, 0). The length of its

diagonal is
J34
135. The perimeter of the triangle with vertices |35
(0, 4), (0, 0) and (3, 0) is
12
136. The area of the triangle with vertices A(3, 0), 136.
B(7, 0) and C(8, 4) is
8
_ 137.
137. The point which lies on the perpendicular

bisector of the line segment joining the points
A(-2, -5) and B(2, 5) is

©, 0

A0, 3), 000, 0), 0803 B(5, 0) e %gwom
£dAD ég SA6Y0 AOBC 90000, T DEdo
D) dogh ?

V34

0, 4), (0, 0) B3 (3, 0) %gbw £dAd
oo o&nézj :mee.on Soeh Joeh ?

12

A3, 0), B(7, 0) &08030 C(8, 4) %gow £dAd

Sgao M) DFV(0 Jodd ?

A2, —5) SoBodn B2,
foF:3)

DO B €08 DoEPLD DD ?

5) DotoHOR

Seunar DD ), vow

0,0
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138. The perpendicular bisector of the line segment | 138
joining the points A(1, 5) and B(4, 6) cuts the

Y-axis at
(0, 13)
139. The line x+/3 + y = 8 cuts the coordinate axes
at A and B. If O is the origin, the area of
A AOB is
139.
3243
3
140. The equation of the line which passes through
(-6, 10) and is perpendicular to the line
7x+8y =5 1is 140.
8x—-Ty+118=0
141. The value of
141.

(sin 30° + cos 30°) — (sin 60° + cos 60°) is

A(1, 5) 0003 B, 6) DotdHw ot
D PocidD AR,
RAAPOED B Y-omdy QD Do 56

3o 0o

OG0,

(0, 13)

X3 +y=8 ed B bdf&)s‘@:)‘l A 08030
B Dot ¢ D00t O Hare) Do)
ROV YD A AOB A3g) 7050 o ?

3243
3

(= 6, 10) Do) ot DeHS® 7x + 8y = 5
2973 B VoIoM® &0 Ba° PAEGE0

8x— Ty +118=0

(sin 30° + cos 30°) — (sin 60° + cos 60°) 031)525
DD Doeh ?
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142. If cos(a + B) = 0, then sin (o — B) can be |49,
reduced to
cos 2
143. If cos 9a = sin a and 9a < 90°, then tan 5a is 143.
equal to
1
144.
144. If sino + sin?a = 1, then the value of
cos? o + cos? a is
1
1 1 145.
145, If sin o = > and cos f = rE then the value of
a+p is
90°
: 146.
146. The value of sin 9 + ! +_COS 0 is
1+cos O sin 6

2 cosec 0

cos (@ + B) = 0 @A sin (0 — ) O Doch
PelelSe) Q)WSOOQ?D&JQ ?

cos 2f

cos 90 = sin o SOOI 9o < 90° OB,
tan 5o ADS DA 9B ?

sin o + sin? o = 1 @O0, cos? a + cos? a

030.352j DD Doeh ?

1

sinoc=% Peblelonbhl cosﬁ=% 003, o + B

o&néb DD doeh ?

90°

1+cos0
sin 0

sin 0
1+cos6

o&:oszy DD Doeh ?

2 cosec 0
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147. On simplification 147.
(1 +tan?0) (1 —sin 0) (1 + sin 0)
reduces to
1
148.

148.

149.

150.

If sin®+ 2cos 0 =1,

2sin®-cosO 1is

then the value of

If cosec 6 + cot 6 =p, then pz
pc+1

is equal to

cos 0

A vertical tower stands on a horizontal plane
and is surmounted by a vertical flag-staff of
height h. At a point on the plane, the angles of
bottom and top of the
flag-staff are o and B respecstively. Then the

elevation of the

height of the tower is

h tan a
tan B—tan a

149.

150.

(1+tan20) (1 -sin0) (1 +sin 0) &
VDITEBRDDY DD Jodd ?

1

sin O + 2 cos 0 = 1 0B, 2 sin 0 — cos O

B8, DD doh ?

2
p_l_‘)

cosec 0 + cot H = p, QD 3 =
pc+1

cos 6

208 DBOBVOP DD €Y FEDBHANHL
o ot §¢ MBWEIP h. & Swop 2.8
Doy OG Bowe &g Bwg), o,
&agsg" EPRD HEMT® o H0B03D P 90D
B0 0L, IBO dos ?

h tan a
tan B—tan a
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SPACE FOR ROUGH WORK
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SPACE FOR ROUGH WORK



